Lecture 09-b: Support Vector Regression in some

details
Instructor: Prof. Ganesh Ramakrishnan
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KKT conditions
e Differentiating the Lagrangian w.r.t. w,
w— a;9(x) + aj¢(x;) =0
e w=3 ", (ai— af)o(x)

o Differentiating the Lagrangian w.r.t. &,

C— a; — /J’I_O @\g ~'7O '\{ﬂlﬂ
ie. aj+pi=C ;=0 & oli=C

Differentiating the L i rt &,
o Differentiating the Lagrangian w.r.t &; ‘%‘_ 5‘:70 a\fw.n

e Differentiating the Lagrangian w.r.t b, Ui =0 &
>0} — ) =0 @ d:€ (0.0)>
e Complimentary slackness: e CO‘X? 3
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Conclusions from the KKT conditions:

o € (0, C) =7

a; € (0,C) =7



